600T125-54 (50 KSI)

« TOP OF PARAPET

Y EL114'-0" }
|
|

-

600T162-54 (50 KSI) AT 16" oc.

ATTACH TO TOP AND BOTTOM
TRACK WITH (1) #10-16 SCREW

~

800T124-54 (50 KSI) CONTINOUS RIM
TRACK. ATTACH TO WALL TOP
TRACK WITH (1) #10-16 SCREW AT 12"
oc AND TO JOIST TOP FLANGE WITH
(1) #10-16 SCREW.

3/4" (NOMINAL) ROOF SHEATHING.
SEE PLAN FOR TYPE AND FASTENING

JOIST BEARING

PER FLANGE

600T125-54 (50 KSI). ATTACH
THROUGH PLYWOOD INTO
TOP FLANGE OF JOIST WITH
(2) #10-16 SCREWS. SCREW
LENGTH MUST BE SUFFICIENT
TO PENETRATE STUD

FLANGE BY 3 EXPOSED
THREADS, MINIMUM.

3" INSULATED METAL ————
PANEL PER ARCH.

SEE DETAIL 3/S-301

FOR ADDITIONAL STUD

FRAMING AT PANEL

VERTICAL JOINT

LOCATIONS.

I R O oo s o o R R RN E—ERE————N——N——————————————.——

« TOP OF WALL

o

EL112' - 4" i

8" DEEP ROOF JOIST PER PLAN.
ATTACH EACH JOIST TO TOP TRACK
THROUGH JOIST BOTTOM FLANGE
WITH (2) #10-16 SCREWS.

600T125-54 (50 KSI). SEE TYPICAL
DETAILS SHEET FOR TOP TRACK SPLICE

1/2" (NOMINAL), TYPE CDX, EXP1 APA RATED
SHEATHING. ATTACH SHEATHING TO STUDS WITH
#10-16 SCREWS AT 6" oc AT PERIMETER AND
PANEL EDGES AND 12" oc IN THE FIELD. SCREW
LENGTH MUST BE SUFFICIENT TO PENETRATE
STUD FLANGE BY 3 EXPOSED THREADS, MINIMUM.

CONTINUOUS WALL STUD BRIDGING
AT 48" oc VERTICAL. SEE TYPICAL
DETAILS SHEET FOR BRIDGING DETAIL

600T162-54 (50 KSI) AT 16" oc. ATTACH TO
TOP AND BOTTOM TRACK WITH (1) #10-16
SCREW PER FLANGE

600T125-54 (50 KSI). ATTACH TO
CONCRETE WITH (2) PAF's PER STUD

TOP OF SLAB

I
I
I
|
I
I
|
I
I
I
I
I
I
I
I
I
|
I
I
I
I
I
I
I
I
|
I
I
I
I
I
|
I
I
|
I
I
I
I
I
I
I
I
I
|
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
|
I
I
I
I
I
L

L

¥ EL100 - 0"

#4 AT 18" oc, VERT

#4 DOWELS AT 18" oc B
WITH STD HOOK AT
BOTTOM END 1

PERIMETER DRAIN BE

REFER TO SITE
DRAWINGS

+ JOP OF FOOTING

/
-

MAT1200 HORZ | 1
TEE

y

CLASS B
LAP SPLICE

:

YELEVPERPLAN - S
S |
™ 8" 8"
o .
TYPICAL WALL SECTION

EL 100' - 0" %

RIGID INSULATION, AS
REQUIRED, PER ARCH

(3) #5 CONTINOUS,
BOTTOM

L4x4x1/4 (GALV) CONT WITH
1/2" DIA x 4" LONG HWS AT

12" oc, TYP

« JTOP OF WALL ELEV

TOP OF SLABELEV

¥ PER PLAN

o) )
#4 AT 12" oc, HORIZ \ ,j,
T B

#4 AT 18" oc, VERT

#4 DOWELS AT 18" oc
WITH STD HOOK AT
BOTTOM END

PERIMETER DRAIN
REFER TO SITE
DRAWINGS

« TOP OF FOOTING

7l

N N
PR

ES—
N g

CLASS B
LAP SPLICE

L

¥ ELEV PER PLAN

SECTION AT DOCK DOOR

/‘

a

PER PLAN e

#4 x 3'-0" DOWELS AT
18" oc WITH STD HOOK
ONE END

BENTONITE WATERSTOP

RIGID INSULATION, AS
REQUIRED, PER ARCH

(3) #5 CONTINOUS,
BOTTOM

-3" CLR

NOTE: REFER TO TYPICAL
WALL SECTION FOR
ADDITIONAL INFORMATION
NOT SHOWN.

i

—

1/2" = 1'_0"

EXISTING STEEL GIRT =
AND WALL PANEL. GC ==
TO FIELD VERIFY SIZE =
AND LOCATION

=

(2) 600S162-54 (50 KSI) 7

BACK-TO-BACK STUDS AT

WALL TIE-IN LOCATION.

ATTACH TO TOP AND L

BOTTOM TRACKS WITH

(4) #10-16 SCREWS / '
600T125-54 (50 KSI) TRACK

TYP TOP AND BOTTOM.
ATTACH TO CMU AND

STEEL WITH (2) V sl
EXISTING CMU T

WALL
EXISTING BUILDING ———— = SSP==p==1"T17
FOUNDATION B RN |

#4 x 2'-0" DOWELS AT 12" oc.
EPOXY INTO EXISTING
FOUNDATION WALL MIN 4"
EMBEDMENT

(3) #4 x 2'-0" DOWELS. EPOXY
INTO EXISTING FOOTING MIN
4" EMBEDMENT

| _——— ATTACH END STUD THROUGH

EXISTING PANEL INTO FLANGE
OF STUD WITH (1) #10-16 SCREW
AT 12" oc. SCREW LENGTH MUST
BE SUFFICIENT TO PENETRATE
STUD FLANGE BY 3 EXPOSED
THREADS, MINIMUM.

CMU WITH (1) 1/4" DIA x 1 3/4" HILTI
KWIK-CON Il SCREWS AT 12" oc.
ADD SHIMS AS REQUIRED FOR
PROPER BEARING

/ ATTACH END STUD INTO EXISTING

—— SEE TYPICAL WALL SECTION

FOR WALL STUD SIZE, SPACING
AND FASTENING REQUIREMENTS

TOP OF WALL

EL100'-0"

SEE TYPICAL WALL
SECTION FOR WALL
REINFORCING

TOP OF FOOTING ..

ELEV PERPLAN

SECTION AT NEW BUILDING WALL TIE-IN

1/2" = 1!_0"

600T124-54 (50 KSI) CAP TRACK.
ATTACH TO STUD WITH (1) #10-16
SCREWS AT 16" oc VERTICALLY
EACH FLANGE

al

i

(2) BOXED POST STUDS
TO MATCH TYPICAL
WALL STUD SIZE

r

INSULATED METAL PANEL PER
ARCH. PANEL ATTACHMENT TO
POST ASSEMBLY BY OTHERS.
COORDINATE ALL VERTICAL
JOINT LOCATIONS WITH PANEL
MANUFACTURER.

|
(5———— PANEL JOINT

CENTERLINE

TYPICAL POST AT VERTICAL PANEL JOINT

L (2) 800S200-68 (50 KSI) +
(2) 600T125-54 (50 KSI)
BOXED HEADER |
ASSEMBLY '

|, (1) 600T125-54 (50 KSI)
JACK STUD ASSEMBLY
TIGHT TO UNDERSIDE
OF HEADER. ATTACH
STUD FLANGES TO
TRACK WITH (1) #10-16
SCREW AT 12" oc

COORDINATE WITH
ARCHITECT

COORDINATE WITH

A

[]P (1) 600S200-54 (50 KSI) + —»=—

ARCHITECT

NOTES:

CRIPPLE STUDS TO MATCH
WALL STUD SIZE AND
SPACING, TYPICAL

600T125-54 (50 KSI) FULL
DEPTH WEB STIFFENER AT
EACH END OF BOXED HEADER.
SEE TYPICAL WEB STIFFENER
DETAIL FOR FASTENING
REQUIREMENTS.

4" x 8" - 16 GA (50 KSI) FLAT
PLATE EACH SIDE OF JAMB.
ATTACH TO JAMB AND HEADER
WITH (4) #10-16 SCREWS

11/2"x11/2" x 6" - 16 GA (50 KSI)
CLIP ANGLES TOP AND BOTTOM,
TYP. ATTACH WITH (4) #10-16
SCREWS EACH LEG.

(1) 600S200-68 (50 KSI) @E
FULL HEIGHT KING STUD. L
ATTACH TRACK OFJACK

ASSEMBLY TO KING STUD
WEB WITH (2) #10-16
SCREWS AT 12" oc

11/2"x11/2" x 6" - 16 GA (50 KSI)
CLIP ANGLE. ATTACH TO STUD
WITH (3) #10-16 SCREWS AND TO
CONCRETE WITH (2) 1/4" DIA x 1 3/4"
HILTI KWIK-CON Il SCREW ANCHORS

ATTACH BOTTOM TRACK TO
CONCRETE WITH (3) PAF's
WITHIN 12" OF JAMB, TYPICAL

ALL HEADER MEMBERS MUST BE CONTINOUS AND UNPUNCHED (NO SPLICE ALLOWED).

HEADER AND JAMB MEMBERS SPECIFIED ARE TO BE CONSIDERED MINIMUM PER
STRUCTURAL DESIGN. FLANGE WIDTH AND GAUGE MAY BE INCREASED IF NECESSARY.

BUILT-UP MEMBERS TO BE CONNECTED BY WITH (2) #10-16 SCREWS AT 12" oc THROUGH

WEBS AND (1) #10-16 SCREWS AT 12" oc AT EACH FLANGE, TYPICAL.

ELEVATION AT DOCK DOOR FRAMING

1/2" = 1'_0"

3" = 1'_0"

NOT-TO-SCALE

baSG design group, inc.

94 Auburn Street - Unit 206, Portland, Maine 04103
t: 207.553.2070 - f: 207.553.2072
www.basedesigngroup.com

Key Plan

Sheet Issue / Revision

No. Date Description

04/27/17 Permit Set

Seal/Signature

& e
..........

';S"ONALE iy

Project

UNIT 5 - LOADING DOCK
1039 RIVERSIDE STREET
PORTLAND, MAINE

Client
HardyPond
Construction
Portland, Maine
Title
SECTIONS AND

DETAILS
Project Number 17068-0
Drawn By Author
Checked By Checker

S-301

Scale As indicated




